Valve Basics and Priming
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Valve die

2How Valve works: Silicone sheet is folded and engineered to target
pressure.
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2The touching faces of folded sheet opens and closes. Opens when

high, closes when low.
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What Is priminge zatoizojz saeste

2Priming: removes air and breaks adhesions that form between faces
that fouch.
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2Faces adhere because sterilization causes material to stick.

This is side effect of sterilization, not intended.
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2Questions: Why do the new valves not have a “pop"?
Why do | not see a stream as oftene
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Q&A- Why pop Vs. N0 pop@¢

2Why pop Vvs. N0 pop¢

2When parts have very strong adhesion, takes a lot of pressure to crack.
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20nce open, valve is ready to function. Force to pop does not translate

to performance.
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Q&A- Why stream vs. dribble/ bubblee¢
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2Stream because valve only partially open when primed.

Eventually fully opens after a while. =zto| & mj e J 2250z
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2Updated valve is ready to go and fully functions when

orimed. Adhesions are not as severe. YUGH0|E & = I} Z=H| £ of
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OW Mmeasure valve performance
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2 1. Closing Pressure. 100% testing for this.
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22. Steady State Pressure: IOP under physiological

conditions. Lot testing (for now)
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2NOT Priming Pressure
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did you make the change®?

2Most common complaint: | can’t prime the valve
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2lncreased consistency means we can test the valves

more accurately. Going to 100% CP AND SSP soon

because of consistent behavior.
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